Gujarat Secondary and Higher Secondary Education Board, Gandhinagar
Diagnostic test for Std 12

Subject:Chemistry (052) Total Marks:80

Medium:English Time:3 hours
Section-A

1) Answer the following objective questions. [24]

viii.

Xl.

Xii.
Xiil.
XIV.

XV.
XVI.

XVil.
XViii.
XiX.

XX.

XXI.
XXil.

XXIil.

XXIV.

How many moles of carban are present in 60g of glucose?

. What will be the % of carbon by mass in carbondioxide?

[A] 34.26% [B] 27.27% [C] 12.67% [D] 43.32%
How many number of maximum electrons have quantumnumber n= 4, ms= -% in
an atom?

State the de Broglie equation.

Arrange the given elements in decreasing order of atomic volume Mg, Si, Al, P.

. Write general electronic configuration of outermost shell of d-block elements?
Vil.

How many non-bonding electron pairs are present in the valence shell of central atom
of CIF3?

Write the electronic configuration of N2 molecule according to M.O.T.

In which molecule the interaction of hydrogen bond is present.

[A] CH4 [BJHF [C]SiH4 [D]MgH2
Calculate the internal energy change for a system which absorb 701 J heat and work
done is 349 J.

Enthalpy of all the elements in their standard state is

[A] 1 [B]O [Cl] < O [D] >0

Which are the Lewis acids among H20, BF3, H*, NHs* ?

What is the oxidation number of S in H2S>,07?

Write formula of iron(l11)sulphate.

Write conjugate base of HSO, .

Write the molecular formula of sodium zincate.

Which kind of hydride is NaH?

Write the formula of superoxide ion.

Write balance chemical equation for reaction between BF3z and LiAIH4.
Mention the hybridization of Si inSiF.~?

Write the number of pi bonds present in acetophenone.

Which of the following compound has molecular formula CnH2n02?

[A] dialdehyde [B]diketone [C] carboxylicacid [D] diol
Mention the IUPAC name of the compound having molecular formula CsH12 and
quaternary carbon.

Which product is obtained at anode on electrolysis of agueous solution of sodium
acetate?
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SECTION B

From the given questions, number 2 to 17, answer any 11 questions as per direction.
[Each question is of 2 marks] [22]

Calculate the mole fraction of NaOH in 10% w/w aqueous solution. [At. MassH=1,

0=16, Na=23u]

Write four important points related to subsidiary quantum number.

“Maximum valence of second period element is four” explain.

Explain dipole-dipole force of attraction.

What is meant by extensive and intensive properties?

SO, can act as oxidising and reducing agent both but HNO3 can act as only oxidising agent only
why?

What is disproportionation reaction? Write disproportion reaction between Cl2 and OH".

What is the difference between the hydride compounds of group 14 and 15 elements on the basis
of lewis structure?

Write balance chemical equation for reaction between H202 and MnQO;, in acidic and basic
medium.

Compare alkali and alkaline earth metals on the basis of ionization enthalpy property.
Write balance chemical equation for reaction of Al with dilute HCI and aqueous alkali.
Mention the difference between crystal structure of diamond and graphite.

(i) Give IUPAC name of CH,COCH,CH(OH)CH,.

(i) write line structure of 2,3 dimethylbutanal
Among O,NCH,CH,O™ and CH,CH,O" which is more stable and why?

Write equation for conversion: Benzene to m-nitrochlorobenzene.

On ozonolysis of an alkene compound “A” mixture of ethanal and pentan-3-one is

obtained. Then write the structure of compound A and related chemical reaction.
SECTION C

From the given questions number 18 to 29, answer any 8 questions as per direction.
[each question is of 3 marks] [24]

4HCl ,, + MnO,,, —— 2H20,, + MnCl + Cl

(aq) 0] 2(aq) 2(g

how many gram of MnO2 is required to completely react with 25mL 0.5MHCI.

)according to given reaction

Work function of Cesium atom is 1.9eV then calculate (i) threshold wavelength and
(ii) threshold frequency.

Explain exception in the values of ionization enthalpy for elements of second period.

On the basis of VSEPR theory explain
(i) H2S is not linear.
(ii) why PCls is not plannar
What is the total pressure of the 9 dm? flask at 27 °C having mixture of 3.2g of CH4 and
4.4g of CO,?
Explain Hess law with example.
lonization constant of 0.1M bromo acetic acid is 0.132. Then calculate pH and pKa of this
solution.
Balance the following redox reaction by any method, which is taking place in acidic medium.

cLO,, + H,0,,, ——> ClO,,., + O

7(9) 2(aq) 2(aq) 2(g)



26. Mention the points, which describe diagonal relationship between lithium and magnesium.
27. Give reason “CCly is insoluble in water while SiCly easily get hydrolysed.”

28. Explain positon and functional group isomerism with one example of each.

29. Explain method of preparation of ethane and butane from chloroethane with suitable chemical

reaction.
SECTIOND
** From the given questions number 30 to 32, answer any 2 questions as per direction.
[each question is of 5 marks] [10]

30. Mentions the characteristics of hybridization and explain structure of SFs on the basis of
hybridization.

31. On reaction between propene and HBr 2-bromo propane is obtained while in presence of
benzoyl peroxide the same reaction gives 1-bromo propane. Explain with mechanism.

32. If solubility product constant of Ag2CrO4 and AgBr are 1.1x 1072 and 5 x 10723 then
calculate ratio of the moalrity of their saturated solutions.
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1) ollAoll el Wstoll MUl Yool oscllol vl [24]

i. 60 g 34slBuUl stololell Ml Sl 82
i.  slolet sllisESSUL slolale] enell estalrk yrl 32¢ & ?
(A) 34.26% (B) 27.27% (C) 12.67% (D) 43.32%
iii. Sl WS URHIQHL sclloe ™ WS n=4, m=-1/2 HEUL YUl
SAsSloto{l HodH vl 3ecll sl ?
iv. € ololclej acaudRol AHls0L vl
v. Mg, Si, Al, P ccclloll URHIRISEl GARcll $H AU
vi.  a-Qetdtell declloll cltaseatte(l WHIA SAsA AL 2ot AV
vii. CIFs Hl HEAe URHIQell ARULY A5l slaMl decll
Ao USRS BASAAYOHL WA B?
vii. sl sets Rgidal v N, wURjell aecla sasalla2u Ut
Aul.
ix. Sl UELZoll AR AR clA slElaet oltl YslRe] ulsHEl
WO 8l B?
(A)CH, (B)HF (C)SiH, (D)MgH,
x.  As UsHHL Yol gl 701 J GuHlL ™A © el 349 J
stlyeudl st a2 & Al UsHoll wicRs Gololl dstald g 67
xi. ol % decllo{l Aottedl AHoll YHIQld el sl B.
(A) 1 (B) O (C) <0 (D) >0



xii. H,0 ,BF, ,H" ,NH,” Hill g ARS sl 872
xiii. H,S,0, Hi AcgeAl BUSASAotuMls 32l B?
xiv. A1) A2 of Yo AW,
xv. HSO, ol ol e cunl.
xvi. ASAH (332 of Yol el
xvii. NaH 5cll Uslell slegless &7
xviii.  JURRSAUBS wloto] YA AWl
xix. BF, oll LiAIH, ol Ad@d ulsal wHlsel dul.
xx. SiF2 Hl RASlote] s20L g2l
xxi. WRUSoot Hl 77 oittol(l vl AUl
xxii. CnH200; URQIYAL YRl Aot 53] 8l AF?
(A) SLAAMLESSLES'S (B) stals2let
() stlllsAAs AR (D) st
xxiii.  CsHy, MUQYA YRl A UAEs slolol YRl 1e] IUPAC
ol sl
xxiv. AUSAH W{2eall wcllat alcelell ([Aydldeurstadll Aalls GuR s¢S

ollues Hnal?
Qewol - B
< o{lAeoll Ut ol 2 &l 18 Hiell slFunl 11 Wslloll HIRAL Yosol wcllol
AU (YRS Usleall 2 QL B.) [22]

2. 10% w/w NaOH oll %2l alaRHl NaOH oll Hlctvial ol
ARLARl 8 (U. EQ :H-1, O-16, Na-23 u)
3. OllQl s HULS A ALl HEcclotl UR YEIRA AU,

4. oflost Wadoll declloll HeH AAScll 4 W HIEE B?
5. (aydl Gycll uusdul s (AN A Al



6. HLoUHS wa Qe opiudl AeA 9?

7. 9l HI2 SO, M (sA3AAs Al A RssaAatscdl A3 ad & »uR
HNO, H12L A3 AotsAl A% ad B2

8. (AnlswaL ylsau AeA g?cl, ol oH W&l (AHlsaL ulsau
AWl

9. UHE-14 ol UHE-15 oll clcclloll SLBLBS AAAol AR GB-U
G0 HLULR 9 dslald 87

10. H,0, oll ARSs vl A[Ds HAHHL MnO,” WA Ad(Ac
y(Sallell uHls200 dul.

1. wAAs0 Aol opuiudetl deelui uiescll uidull wal
UIEsAB A uUldrlell AuuHR(l 3.

12. Al ofl He HCl da sclla viescl well ulsauetl Adq@d
UHls200 .

13. SRL U Jstefe ol 2585 AU AR dAglelct LU

14. (i) CH,COCH,CH(OH)CH, oj IUPAC oll{ cudl.
(ii) 2,3-SlAMABACRAA of GlUVL YA ERL.

15. O,NCH,CH,0” ¥al CH,CH,0 Usl slal ay @2l &7 a HR?

16. olAotl URcdot 12 AH$0L AVl
ARt HIAl m-olleS SN A (Dot

17. 518 Kot doget ‘A oll WAl ALl SAotlcd Aol
Uoeot-3-Ullet of ABQL HA B, Al A2Axel ‘A’ef sl e2cll
ylsal cul.



(Aeual-c
o oflAstl ust ol 18 &l 29 uigl slFuLL 8 Usllotll HLAL Y¥oL Scllol
AL (UASs Uslell 3 lRL 8.) [24]
18. 4HCI(aq)+MnO,(s) --=> 2H,0(I)+ MnCl,(ag) + Cl,(g)
25 mL 0.5 M HCI A& AyEl ylsal sall 32l A MnOo,
ol %32 Ud? .(W. €M :H-1, O-16, CI-35.5, Mn-55 u)
19. YBauH uHIYe] stilQQ2 1.9 ev B Al
(i) 26l dRaldoles wal (i) tocll wugla oLl
20. oot vlcddoll declul A5 AolcUloll Yeuul ol Hadl
AUCLE AHil.
21. 9 dm? oll $CUSHL 27 °C dlUHlal 3.2 g CH, Aol 4.4 g CO,all
st ad e ool Gaust w?
22. VSEPR Rtuicial dtR AHl 3,
(i) H,S 2w e u{la otell wal (i) PCI, 2 He U AL ol
23. dUoll [AAH GElsWL WA AHMLA.
24. 0.1 M JLLARRSARS ol u2Aol520L AWANLS 0.132 BD. Al
alc@lefl pH el pka IO
25. VWRSs MUl Al Aol 2518t ylsaua slefurl ubuld et
Ad@Adt 5.
Cl,0,(g) +H,0,(aq) -=CIO, (aq) + O,(g)
26. (AQAHA NoA(A2aH WA (AsEl olu ladl el Al
27. 51201 UL : CcCl, WRlHL walea 8 =12 Sicl, A0l
s (Aeilosel WA B.
28. WUlol A (Fauelld AYe AHUSAL BELERQL Ll UMl
29. SARISAt Uil 8ot Wal 6J2al ol vlatlazell Ylsal UMl



(Aewat-D
< oflAotl Ygt ol 30 &l 32 Higl slFuRl 2 Yslloll HLAL Yuol
ogcllol UL (UcRlS Uslell 5 0L B.) [10]

30.4520e{l Ala@sAlRA AVl AHY SF, uQjo] 6itllR0L sl
AUR Al

31. UQetdi HBr GRRaAl 2-cl W Uet oflux HAL & AR AeASAH
WAsAESSell sl v ylsauell Yuadd 1-c AUt oflu
HA B. Bafa®@ Add A Al

32. Ag,CrO, ¥al AgBr all Glelcll JRUSIR Aol 1.1x107'2 Aal

5x107% 8. AHell Vi staldllell WAURE 0l 2Rl dal.
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1) s T 92T & Fideqd & 39 foa: [24]

i.  60g TSThIST A IeleT T Aol fehelell g2
ii. oI SIBITFASS A HIoT Pl GeIHATT TohdelT Tfaerd &2

(A) 34.26% (B) 27.27%
(C) 12.67% (D) 43.32%

iii. @IS Teh GHATUT A FAlCH HEAT n=4, Ms=-1/2 Hed dlel Selerclel T HFAH &I il
grafre

iv. GlTcll GeddeT T FHIHT for@r?

v.  Mg,Si,Al,P dcal &l TRA] hAlsh & ged A A foar |

vi. d-TameT & dear fr IHT selacifae faeara e for@n

vii.  CIF3 & HEIUTATY] & HTHATH HATSTehell hiel H fohclel LR Soleelel JIH UMY ¢ |
viii.  37T0ge eTeh [Agrd & 3TUR T N, 3107 I 3T0aeh Selagifcler T foray |

ix. @il & GeTd & U3 UL o ST GISZIolel S8 URATY] YT §of 3UTTU &2

(A) CHy (B) HF
(C) SiH4 (D) MgH3
x. Ueh WshH H YOI o GaRT 701) 31T @S gicly § I YUTTell GaRT 349) 1 gam § a9
Yehd T 3T 3911 &7 3T AT BIEI?
xi. THAT dcal FT Tededr 3ot 373 gHAONS aTar H ........... grdr g?
[A] 1 [B]O [C] < O [D] >0

xii.  H20, BFs, H*, NHs* & o3& Ufdis &l & &2
xiii.  H2S,07 & oW T INFHSAA T&AT fhsr &2
xiv. 3T (Ill) Fethe T Fo forgr |
xv. HSO4 &r1 QTEL??\T g ferar |
xvi. @ISIH Sohe Fr el forar |
xvii. NaH &I & YR & g1S3153 ¢ |
xviii.  HULTFHISS 3T &l G fordl |
xix. ~ BF3 T LiAlH4 3 | Hdfeld H&enor forar |
xx. SiFe> & Aot &1 gor for@r |
XXi. Qﬁmﬂﬁﬁ(ﬁ)aﬂﬁmml




xxii.  CnH2nO2 31U i & HATST &I Hehell 572
(A) STEUCSIGISS BERIEC
(c) Faifdfeos thas (D) 31Tl
xxiii.  CsH1z 37U aTel TqYh Teisl aTel TToTeT T IUPAC #ATH feral
xiv. ESTH TR & STy fdore & fayd fqems=l @ Tels W i a1 3cure ffem?

fa9mer - B
o T T A A @ 11 9o & 3T for@l: (7 & 2 o1 [22]

2. 10%w/w, NaOH &1 STl fderaa & NaOH &7 AYI37er AT
[RATI] gegAT H=1,0=16,Na=23,]
fearelier Faies Fear & TR AT ofafor foar |
focT 3mad & deal $r AgdH TATeTehdT 4 fhgelT §7 a3
foera — TR 3MTehSUT Sof HASI |
HATATcHS J7 fafrsearorerst &= g?
SO, NFTSYUT FdT Td RS FHdl T HIfA STIER AT & STahr HNO3 AT
NFARAT FaT HT M TagR FdT § HROT fSu?
fawaeRTor ufshar a7 § CLy it OH & arer fawsetor yshrar fort |
9. HHE -14 TUT WA -15 o dcal H gIS3ISS HASTH & HEY o[5H Il o TR I
3R for@r?
10. H,0, &1 Tdlifssh Tt afSieh Areasdr & MnOs” & 1Y Hfeld Tfshar s Fteror foral
11. 3T TedodT STEIOThar & HesT 7 Uelehiel Ul Ud Heshollsel LU T Jolell HY?
12. Al #T He HCl T STeiig &TRIT o AT HishdT & A fold FH0T ford! |
13. RT TAT AHISE & TheTeh TTAT & o 3R forar |
14. (i) CH3COCH2CH(OH)CH3 =T IUPAC a1 for@r |
(i) 2, 3 — SISTAATSS YT &1 FeR@T g7 forg |
15. eAfof@d & & Sl 31f¥e TRl §, Jar 41 ?
02NCH>CH>0" 3iR CH3CH,0O"
16. gRada & fow afFexor fomar |
dTSleT & T m-ACIFARIS Tl
17. T Ufodsd ‘A’ 3SiTeT 3T8cs & U -3- 3ieT AT TAATS T THAOT Yred gidr g!
A 1 T BfSw 3R affeor foar |
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< R QT 7T goT & 18 | 29 A F FIE 8 WA & I fA@:: (IAF & 3 0N [24]

18

19.

20.
21.

22.

23.
24.

25.

26.
27.

28.

29

/7
0’0

. 8HCl@ag*MnO2e——>  2H,0()+Mnclz(aq)+Cla(g) 25ML 0.5 M HCl & &1 HYOT Ffshar
Hlal W fhdar AT Mno, T STIT g89iT?
STIH GTAT] & 1 Belel 1.9V &, @l

(i) Sgelr adar — ged

(ii) T Sgelr 3Tgfa < IT0TAT A
S 3Tae & deal 1 ARAAOT Teded & Hed A fAele dTel 3Tdie i FASIN?
VSEPR & fAeemd X I#HS3,

(i) HoS fore fore Y@ =Y &1

(i) PCls forg forw a#afera =16 gl
TEY 27°C, W 9dm? eTRAT aTel FolTEeh & 3.2 g AAT TAT 4.4 ATH FHIeT SISIHFHSS T
AT 87 af STepT g1 &1 ghem?
& T IH 3eTe0r Afed THAS3 |
STHTTEIES 3ol T 3TAAA I AT 0.132 g1 0.1 M 3TFaT ST pH 4T pKa &1 AT AT
e
o QT o FHIEOT @ Hfad HU (I gty gan)

Cl207g) + H202aq)  —» ClO2(aq) + Oag)

forefiger s ATafRaa & ary ol gaer eeiiel arel #72 forar |
FHROT @ :-
CCly 9Tt & 37T & S FT Sicly TdT I I & AT & |

U1 AT TRl THg FATGATAT Sl Teh Teh 3GTE0T & HIY FHSIT |
. FARSAT A F ST AT F&oA Y FeArae Gfswar fo |

9419 - D
oA foT arT weat o 30 ¥ 32 A F F$ 2 YA F 3N fA@: (9AF F 5 qN)[10]

30. HHIOT I WATeIOThclT for@T AT SFe 30T shr SEIROT HehYoT & TR I FHSIIAT |
31. WO I HBr & 1Y 37HTHAT ol I 2 - AT WA AT & S Sossh Wierarss $Hr

3ufeafa & #fAfkar ara § ar 1 - ST 9 Aerar § rarfafer forar |

32. AgoCroacr AgBr & faerddr JUTeTthel &I Sheer: 1.1 x 10 TU1 5.0 x 10§ 3eTh

Hjed faferer fr Arerdr &1 31gard AT HIfST |
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